Clicker Question 1

Which expression-substitution pair would result in an
expression that the identity 1 + tan? 6 = sec? § would simplify?

(A) Va?+ x2,x = asech
(B) va?+ x2,x = atanf
(C) Vx%2 — a2 x = atanf
(D) vVx2 —a2,x = asecl
(E)

None of the above can be simplified with that identity.



Clicker Question 1

Which expression-substitution pair would result in an
expression that the identity 1 4 tan? = sec? § would simplify?

(A) Va2 +x2,x = asecf
BVERRx=awg
(C) Vx2 — a2 x = atand

(D) vx% — a%,x = asecf

(E) None of the above can be simplified with that identity.

u]

o)
|

i
it
N)
pe)
o)



Clicker Question 1
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None of the above can be simplified with that identity.
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Clicker Question 2

If tan0 = %, then which of the following is true?

(A) sing =2

(B) sinf = —2—
(C) sinf = sz)(+25
(D) sinf = VXQ5+25
(E) sinf = =X



Clicker Question 2

If tan0 = % then which of the following is true?

(A) sing =2

(B) sinf = \/)ﬁ
(C) sind = @
(D) sinf = ¥x2425
(E)



